SARFEBER—E

IS Ak (kHz) |EEHHD (W)
NHKZ 1 990
N - 10k
=4 NHK 2 1152
= EIRBOE 900 5k
NHKE1 999
A NHKE52 1521 1k
= EIROE 1197
NHKZ 1 1026
mE 100
= KR 1395
R NHKE1 1161
BIR — 100
NHKE52 1467
NHKZ 1 1368
KIE - 100
NHKE52 1035
NHKZ 1 1323
R T 100
= KR 1557
\ NHKE1 1584
K f——— 100
= KR 1395
Il NHKE1 1341 100
K& NHKE1 1026 100
SEE | NHKS1 1341 100




SHMEFMBER—&

I5E Rk (MHz) |%EHEHD (W)
S NHK+ 87.5 500
I7ILEH 81.6
i NHK+ 84.4 100
I7ILEH 78.5
_— NHK+ 84.9 10
I7ILEH 82.7
=N NHK 84.0 1
= NHK+ 82.5 30
I7ILEH 81.3
NHK 83.8
= — 10
I7ILEH 79.9
T {EHT NHK 82.9 10
£ NHK 85.6 10
2K NHK 85.0 1
)| NHK 83.7 .
I7ILEH 80.6
E)1# NHK 84.8 10
= NHK 85.8 1
ht{E NHK 84.2 1
£ NHK 89.1 10
YR NHK 89.9 1
+1EKA NHK 85.9 10
+#0 NHK 85.2 1
EY=l: NHK 86.8 10
RIEHIR NHK 87.8 1
TEEE NHK 85.9 3
SHEFMETF#RE—E
I5E RAiE#H (MHz) |#EHEAD (W)
=4 [SYNGES 90.8 500
EE= NHK 92.5 30
1= NHK 78.1 1
WEAE o 7R NHK 77.4 30
B2 NHK 76.5 10
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